Math 234 Integral Practice — Answers

Answers on front, brief solutions on back. Full solutions not included due to space constraints —
email me or stop by office hours if there’s a problem you still can’t figure out.
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. Use substitution with v = In x.

. Either use substitution with w = 22 then integration by parts with v = w, dv = e* dw or use

integration by parts with u = 22, dv = 2z da.

. Use substitution with u = 2x + 3, then expand the product.

. Expand the product.

. Use substitution with u = e™* + 1.

. Use substitution with v = In(3z).

. Use integration by parts with u = In(z3), dv = 22 + 5dx.

. No tricks — make sure you remember the basic rules for antidifferentiation!

. Expand the product.

Use substitution with v = /z — 1.

Use substitution with u = 23 + 1.

Use substitution with v = x + 3, then expand the product.
Expand the product.

Use integration by parts with u = ¢,dv = e!~tdt. You may want to use substitution to
compute v.

Use integration by parts with u = 5 + 3z + 22, dv = e */2 dz. For the subsequent integral,

use integration by parts again, this time with u = 3 + 2z, dv = e~*/2 dz.
Use substitution with v = 322 4 2z + 5.

Use integration by parts with u = (In x)2 ,dv = dz. For the subsequent integral, use integra-
tion by parts again, this time with u = Inx, dv = dz.

Use substitution with u = 2 — 1.
Use substitution with v = 22 + 4z + 5.

Use integration by parts with u = z + 2, dv = e ™3 dx.



